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General Instructions :

@)
(i)

(1ir)

(iv)

57/2/1

All questions are compulsory.

This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 3 questions of five
marks each.

There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and
properly labelled.



@ us A
SECTION A

1. SFsiforq a1 argier diEl ¥ 98 9 999 #dT @ % WOvEdis & 9 8 9 o
- AS-8 w g gifeEa @ 2 1

How is it possible in Oxalis and Viola plants to produce assured
seed-sets even in the absence of pollinators ?

i

2. W2 fE IS Tl F WRT B A St w1 o IR W I E 2 1

Why do pollen grains of some flowers trigger ‘sneezing’ in some
people ?

3w v R 9 F A R A | e ¥ o § giw a9
A & | 3 e faees (22) -9 ¥, 9T | 1

A garden pea plant produced round green seeds. Another of the same
species produced wrinkled yellow seeds. Identify the dominant traits.

4. FYU F JATERN T F A 2 2 1

Why is an earthworm called a detritivore ?

5. HEEl B AfeT FERR & 9T I # WH U6 399 @ 995 | 1

Mention the location and the function of Leydig cells in humans.

6. FHgTE R TG T B FE SR 6 F 2 1
- Why is the South Indian sugarcane preferred by agriculturalists ?

E Rk vk B S o i Y GRY S A
R feooft sifeg | . 1

Comment on the similarity between the flippers of dolphins and
penguins, with reference to evolution.
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8. W%%mﬁﬁ(@ﬁaﬁw)%%ﬁﬁmﬁwmﬁﬁwmﬂw
SifT) & F wE A 8, fare |

Mention the effect of global warming on the geographical distribution
of stenothermals like amphibians.

@vs B
SECTION B

9. foft © IaEd (SEHFRM) 35E &1 TF TWifhd JAT NG F9RY |

Draw a labelled schematic diagram of a transcription unit.

10. W T M- S g€ A fR A Y IS qr B A Tl & 2 a8 W
Tl gU-IY F iR FY THR Y FH U 7 2

Write the cellular contents carried by the pollen tube. How does the
pollen tube gain its entry into the embryo sac ?

11. vhen ye= &3 § a¥ie & @ qfis & e S |

Describe the role of lymph nodes in providing immunity.

12. StasafE yav & fau fefafeg & 8 59 TeR 9va & a8 2
(a) @ FifE ¥ DNA & gIas |
(b) YFERHT DNA & dRifEs St § g4 Ja9r & M |
How can the following be made possible for biotechnology experiments ?
(a) Isolation of DNA from bacterial cell.

(b) Reintroduction of the recombinant DNA into a bacterial cell.

13. mméﬁaﬂgﬁmsﬂmfﬁ»ﬁﬁwﬂa—ﬁﬁm)mm&m%
me%ﬁsa@wmﬁmna@aﬁaﬂmsﬁﬁﬁ%w%@
FET AT FY & IEOEN ?

Refrigerants are considered to be a necessity in modern living, but
are said to be responsible for ozone holes detected in Antarctica.
Justify.

57/2/1 a



14, =9 & 39 Q€ & 99 fafEay fSed aifEe & fd o=« 8 | 98 i) afga &
T ¥ 5 yeR i A § 2 2

Name the product of fertilisation that forms the kernel of coconut.
How does the kernel differ from coconut water ?

15. Fi54 & UCU-Ed & 99 fofEr | 399 9Ha YRR W 1 T9E aidl & 2 2

Agar

T S AME SHEEAT & G GHES & Yoed H TREenEAl 1 GaHa F
fFe YR HEEd a8 ?
Name the plant source of cocaine. How does it affect the human body ?

OR

How does culturing Spirulina solve the food problems of the growing
human population ?

16. (a) crylAc S 3799 WAl & R @F F Y THL ifyeacs & g ?
(b) o FH (Ae-ad) F WA F 0 F 39 AW o e a8,
FaRT | 2

(a) How does cryIAc gene express itself in its host ?

(b)  State the role of this gene in controlling the infestation of
bollworm.

17. 759 St o9 Si¢ ueh ge &6 § F A 9 9 2§’ | 2

Why are small birds like humming birds not found in polar regions ?
Explain.

18. UTSHRURAY ame U7 97 &4 I WSl & 919 fofEe | 39 O F & TeEE owo
fafgy | 78 I ¢ I g e W FI GuiE gar 2 2 2

Name the parasite that causes ascariasis. Mention two diagnostic
symptoms of the disease. How is this disease transmitted to others ?
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@ug C
SECTION C

19. RNA & 31T DNA & Us dgR avmifa gered &f 7 Siar @ 2
ALl

mRNA & 799 § hnRNA i 59 y&R gaifea fear smar @ 2

Why is DNA considered a better hereditary material than RNA ?
OR

How is hnRNA processed to form mRNA ?

20. fomrg & & fodt gufy & i o9 SHeRaT w1 ofedT @ @ S warsdr @
ey § @), dfes g & guIEfed § @1 2 | DDT & Hed # 39 w39 i
fFT JPR TE TEA ST WHAT & 7 WY &, T T AW & TG I THH HY TER
T4 B €, A of Fas |

Evolution is a change in gene frequencies in a population in response

to changes in the environment in a time scale of years and not
centuries. Justify this statement with reference to DDT. How does the
theory of Hugo de Vries support this ?

21. (a) 39 9N dyfHe & A9 fafer e W@ ¥ 9rg ¥ BRa wifa
S |

F oS

(b) URY WA FEHA & IiTd Al FEA @ UE A% AN fFw fowfa
FH § I 9 IfEd T T S § 2

(a) Name the Indian scientist whose efforts brought ‘green revolution’
in India. '

(b)  Mention the steps that are essentially carried out in developing a
new genetic variety of crop under plant breeding programme.
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22, = # ¥ y&F F -39 F=1 F@ 7, fof@e 3
(a) R S T ¥ WA (TwR)
(b) Y] & iR & RIS
(© e ¥ e e

Mention the function of each of the following :
(a) tassels of corn-cob
(b) mitochondria in sperm

(c) tapetum in the microsporangium

23.W&W§ﬁﬁﬂﬂ§mm§§ﬁﬂwmwmﬁwﬁmwé,m| 3

Explain the synthesis of genetically engineered human insulin.

24, AIDS & 97 A9 IR ¥ 59 THR Y90 & & 2 I6% SEd-9% & quia
FITT | 395 A0 ¥ difeqd =aft it 1 gfowe oo fFg R ST @ S g 2 3

How does AIDS virus enter the human body ? Describe its life cycle.
Why does this infection shatter the immunity of the victim ?

25. (a) AHEl # fom-frefor 9 @ 8, 9WenET |
(b) XXY JTEHRICl a1 HHEE A S F FF FoHT IS 8 2 3
(a) Explain sex determination in humans.

(b) How do human males with XXY’ abnormality suffer ?

26, ¥ I FAW § R SuEdy § e wd o S fafaedr o€ S
TEES FIST | 3

List the reasons that account for the greater biological diversity in
tropics.

27. DNAW%WDNAW@&W:WW%E%MW%?
. HHFET | 3

How are the DNA fragments separated and isolated for DNA
fingerprinting ? Explain.

57/2/1 7 PiT:0.



28. (a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

29. (a)

(b)

- 57/2/1

@us D
SECTION D

B | M F AW fAfEw | e 30 yE W owyar Sed 5 R
yfad &ar 3 2 '

frdt sier % STogUIveT % FE-E FROT @ G&d §, dui s |
HYdl

Sa & GiR WafE SEHEA Y YER MRY AT € IR IT¥ I =m
e Y YER 9 S 8 7 §EeR |

FROT A gC AT R A el # gaieRr-sger @ @ g

ST |

Name the green house gases. How do they affect the life on
earth ?

Describe the causes of eutrophication of a lake.
OR

How does primary succession start in water and lead to the
climax community ? Explain.

Explain giving reasons why thermal power plants are not
considered ecofriendly.

sgadifsEl (Ysaret) ¥ gemetemy ag Hifve ¥ wiued w01 7 99
ST ® 2

TS R WA U F G & U BT SR THE Q- e

H AHIRT 3RE TR |




99 Ry o1 @ fod o eremmd ST iR o U ST ® wedl & W AN

(i) YR X TqEU fF ‘@’ T 2 |

() ‘¢ & AW FR ITH FE FART |
(iii) 90T ‘d’ I YEEH FNT |
(iv) ‘@’ & 994 3R fawfaa g= & WE F1 gfFe g9y |
(v) ‘D F T AT ¥ NG FAEY iR IGH IY-3F G H FHHA S
' — S @’ ¥ YAV W § FEEdr & g
— S SERE Ted w1 uRe &
— S 3Ee fa F g g ? | | 5

(a) How does microspore mother cell develop into mature pollen
grain in angiosperms ?

(b)  Describe the structure of a mature pollen grain and draw a
labelled diagram of its two-celled stage.

OR
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Study the illustration given below and answer the questions that
follow : : &

(i)  Identify ‘@’

(ii) Name and state the function of ‘c’.

(iii) Identify ‘d’.

(iv) Explain the role of hormones in the formation and release of ‘a’.

(v) Draw a diagram of ‘b’ separately and label the parts :

— that helps its entry into ‘a’; .
— that carry genetic material;

— that helps in its movement.
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30.

(a) TUETH ¥ G F O & foq eyl wwifear g o S @ | 39 uRee
W GIE S T W UE G0 W W amRT | 9§, 7 o 9eEmRy
& g8 dvmfa ded & dymfa sfoey & fog yox fm 2 2

(b) AU ¥ fRfTd & tRNA &t §&T & 3RE S50 |

Jroan
- & WA & avia FNT | A F 9 3 fFE ads W wgs, fafe

(a) Snapdragon shows incomplete dominance for flower colour. Work
out a cross and explain the phenomenon. How is this inheritance
different from Mendelian pattern of inheritance ? Explain.

(b) Draw the structure of a tRNA charged with Methionine.
OR

Describe the Hershey-Chase experiment. Write the conclusion they
arrived at after the experiment.



